

ON DOUBLE SERIES IDENTITIES

Priyanka Singh, Ashutosh Singh and Amit Kumar Singh

Department of Mathematics,
T.D.P.G. College, Jaunpur-222002 (UP) India
Email: rps2006lari@gmail.com, ashuaryan001@gmail.com,
dramitsingh2013@gmail.com

Abstract: In this paper, making use of the most generalized form of Bailey's Lemma due to Andrews [2], an attempt has been made to establish certain double series identities.

Keywords and Phrases: Double series identities, Bailey's Lemma, multiple series, summation formula.

2000 AMS Subject Classification: 33A30, 33D15, 11B65, 05A30.

1. Introduction Notations and Definitions

Throughout this paper we shall adopt the following notation and definition; For any numbers α and q , real or complex and $|q| < 1$, let

$$[\alpha; q]_n \equiv [\alpha]_n = \begin{cases} (1 - \alpha)(1 - \alpha q)(1 - \alpha q^2) \dots (1 - \alpha q^{n-1}) & ; n > 0 \\ 1 & ; n = 0 \end{cases}$$

Accordingly, we have

$$[\alpha; q]_\infty = \prod_{r=0}^{\infty} (1 - \alpha q^r).$$

Also,

$$[a_1, a_2, \dots, a_r; q]_n \equiv [a_1; q]_n [a_2; q]_n \dots [a_r; q]_n.$$

We define a basic hypergeometric series,

$${}_r\Phi_s \left[\begin{matrix} a_1, a_2, \dots, a_r; q; z \\ b_1, b_2, \dots, b_s; q^\lambda \end{matrix} \right] = \sum_{n=0}^{\infty} \frac{[a_1, a_2, \dots, a_r; q]_n z^n q^{\lambda n(n-1)/2}}{[q, b_1, b_2, \dots, b_s; q]_n}, \quad (|z| < 1). \quad (1.1)$$

Andrews [2] established the following generalized form of Bailey's Lemma.

If,

$$\beta_n = \sum_{r=0}^n \frac{\alpha_r}{[q; q]_{n-r} [aq; q]_{n+r}} \quad (1.2)$$

then

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{[b_1, c_1, b_2, c_2, \dots, b_k, c_k, q^{-N}; q]_n}{[aq/b_1, aq/c_1, aq/b_2, aq/c_2, \dots, aq/b_k, aq/c_k, aq^{N+1}; q]_n} \times \\ & \quad \times \left\{ \frac{a^k q^{k+N}}{b_1 c_1 b_2 c_2 \dots b_k c_k} \right\}^n q^{-n(n+1)/2} (-)^n \alpha_n \\ &= \frac{[aq, aq/b_k c_k; q]_N}{[aq/b_k, aq/c_k; q]_N} \sum_{n_k \geq n_{k-1} \geq n_{k-2} \geq \dots \geq n_1 \geq 0} \frac{[b_k, c_k; q]_{n_k} \dots [b_1, c_1; q]_{n_1}}{[q; q]_{n_k - n_{k-1}} [q; q]_{n_{k-1} - n_{k-2}} \dots [q; q]_{n_2 - n_1}} \times \\ & \quad \times \frac{[q^{-N}; q]_{n_k} [aq/b_{k-1} c_{k-1}; q]_{n_k - n_{k-1}} \dots [aq/b_1 c_1; q]_{n_2 - n_1}}{[b_k c_k q^{-N}; q]_{n_k} [aq/b_{k-1}, aq/c_{k-1}; q]_{n_k} \dots [aq/b_1, aq/c_1; q]_{n_2}} \times \\ & \quad \times \frac{q^{n_1 + n_2 + \dots + n_k} a^{n_1 + n_2 + \dots + n_{k-1}} \beta_n}{(b_{k-1} c_{k-1})^{n_{k-1}} \dots (b_1 c_1)^{n_1}} \quad (1.3) \end{aligned}$$

As $b_1, b_2, \dots, b_k, c_k$ and $N \rightarrow \infty$ in (1.3), we get

$$\begin{aligned} & \frac{1}{[aq; q]_{\infty}} \sum_{n=0}^{\infty} q^{kn^2} a^{kn} \alpha_n \\ &= \sum_{n_k \geq n_{k-1} \geq n_{k-2} \geq \dots \geq n_1 \geq 0} \frac{q^{n_1^2 + n_2^2 + \dots + n_k^2} a^{n_1 + n_2 + \dots + n_k} \beta_n}{[q; q]_{n_k - n_{k-1}} [q; q]_{n_{k-1} - n_{k-2}} \dots [q; q]_{n_2 - n_1}} \quad (1.4) \end{aligned}$$

Now, taking $k = 2$ in (1.3) and (1.4), we have

If

$$\beta_n = \frac{1}{[q, aq; q]_n} \sum_{r=0}^n \frac{[q^{-n}; q]_r (-q^{n+1})^r \alpha_r}{q^{r(r+1)/2} [aq^{n+1}; q]_r} \quad (1.5)$$

then

$$\begin{aligned} & \sum_{n=0}^N \frac{[b_1, c_1, b_2, c_2; q]_n [q^{-N}; q]_n (a^2 q^{N+2} / b_1 c_1 b_2 c_2)^n q^{-n(n-1)/2} (-)^n \alpha_n}{[aq/b_1, aq/c_1, aq/b_2, aq/c_2; q]_n [aq^{N+1}; q]_n} \\ &= \frac{[aq, aq/b_2 c_2; q]_N}{[aq/b_1, aq/c_1; q]_N} \sum_{m \geq n \geq 0} \frac{[b_2, c_2; q]_m [b_1, c_1; q]_n [q^{-N}; q]_m [aq/b_1 c_1; q]_{m-n} q^{m+n} a^n \beta_n}{[q; q]_{m-n} [b_2 c_2 q^{-N}; q]_m [aq/b_1, aq/c_1; q]_m (b_1 c_1)^n} \quad (1.6) \end{aligned}$$

and

$$\frac{1}{[aq; q]_\infty} \sum_{n=0}^{\infty} q^{2n^2} a^{2n} \alpha_n = \sum_{m,n=0}^{\infty} \frac{a^{m+2n} q^{(m+n)^2+n^2} \beta_n}{[q; q]_m} \quad (1.7)$$

after some simplification.

In this paper we shall utilize (1.5)-(1.7) to establish our main results. Though a number of identities can be established with the help of these result, we shall confine to only a few. We shall use the following summations in our analysis.

$${}_6\Phi_5 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b, c, q^{-n}; q; aq^{n+1}/bc \\ \sqrt{a}, -\sqrt{a}, aq/b, aq/c, aq^{1+n} \end{matrix} \right] = \frac{[aq, aq/bc; q]_n}{[aq/b, aq/c; q]_n}, \quad (1.8)$$

[Gasper & Rahman 4; App. II (II. 20)]

$${}_4\Phi_3 \left[\begin{matrix} a, -q\sqrt{a}, b, q^{-n}; q; q^{n+1}\sqrt{a}/b \\ -\sqrt{a}, aq/b, aq^{n+1} \end{matrix} \right] = \frac{[aq, q\sqrt{a}/b; q]_n}{[q\sqrt{a}, aq/b; q]_n}, \quad (1.9)$$

[Gasper & Rahman 4; App. II (II. 14)]

$$\begin{aligned} & {}_4\Phi_3 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, q^{-m}; q; -q^{m-\frac{1}{2}} \\ \sqrt{a}, -\sqrt{a}, aq^{m+1} \end{matrix} \right] \\ &= \frac{1 + \sqrt{a} [aq, -q^{-1/2}; q]_m}{2 [\sqrt{aq}, -\sqrt{a}; q]_m} + \frac{1 - \sqrt{a} [aq, -q^{-1/2}; q]_m}{2 [-\sqrt{aq}, \sqrt{a}; q]_m}, \end{aligned} \quad (1.10)$$

[Verma and Jain 6; A (4.1), p. 76]

and

$$\begin{aligned} & {}_2\Phi_1 \left[\begin{matrix} a, q^{-m}; q; -q^{m+\frac{1}{2}} \\ aq^{1+m} \end{matrix} \right] \\ &= \frac{1 + \sqrt{a} [aq, -\sqrt{q}; q]_m}{2 [-\sqrt{aq}, q\sqrt{a}; q]_m} + \frac{1 - \sqrt{a} [aq, -\sqrt{q}; q]_m}{2 [\sqrt{aq}, -q\sqrt{a}; q]_m}, \end{aligned} \quad (1.11)$$

[Verma and Jain 6; A (4.3), p. 76]

We shall also use the following set of sequences $\langle \alpha_n \rangle$ and $\langle \beta_n \rangle$ in our analysis,

If

$$\alpha_0 = 1, \quad \alpha_n = \frac{(-)^n \{(1 - aq^{2n})[a; q]_n a^n q^{n(3n-1)/2}\}}{\{(1 - a)[q; q]_n\}}; \quad n \geq 1$$

then

$$\beta_n = \frac{1}{[q; q]_n} \quad (1.12)$$

and

If

$$\alpha_0 = 1; \quad \alpha_{3n} = \frac{(-)^n [aq^3; q^3]_{n-1} (1 - aq^{6n}) a^n q^{3n(3n-1)/2}}{[q^3; q^3]_n},$$

$\alpha_{3n-1} = \alpha_{3n-2} = 0; \quad n \geq 1$ then

$$\beta_0 = 1, \quad \beta_n = \frac{[aq^3; q^3]_{n-1}}{[q; q]_n [aq; q]_{2n-1}}; \quad n \geq 1 \quad (1.13)$$

[Verma 5; A (4.3), p. 771-72]

2. Main Results

In this section we shall establish our main results,

If in (1.5) we set

$$\alpha_r = (-)^r q^{r(r+1)/2} \frac{[a, q\sqrt{a}, -q\sqrt{a}, b, c; q]_r (a/bc)^r}{[q, \sqrt{a}, -\sqrt{a}, aq/b, aq/c; q]_r}$$

in (1.5) and apply (1.8), we get,

$$\beta_n = \frac{[aq/bc; q]_n}{[q, aq/b, aq/c; q]_n}$$

Substituting these values of α_n and β_n in (1.3), we get

$$\begin{aligned} & {}_{10}\Phi_9 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b, c, b_1, c_1, b_2, c_2, q^{-N}; q; a^3 q^{N+3} / bcb_1 c_1 b_2 c_2 \\ \sqrt{a}, -\sqrt{a}, aq/b, aq/c, aq/b_1, aq/c_1, aq/b_2, aq/c_2, aq^{1+N} \end{matrix} \right] \\ &= \frac{[aq, aq/b_2 c_2; q]_N}{[aq/b_2, aq/c_2; q]_N} \sum_{m=0}^N \sum_{n=0}^m \frac{[b_2, c_2, q^{-N}]_m q^m [b_1, c_1, aq/bc, q^{-m}; q]_n q^n}{[q, b_2 c_2 q^{-N} / a; q]_m [q, aq/b, aq/c, b_1 c_1 q^{-m} / a; q]_n} \quad (2.1) \end{aligned}$$

As $N \rightarrow \infty$ in the above, we get

$$\begin{aligned} & {}_9\Phi_8 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b, c, b_1, c_1, b_2, c_2; q; -a^3 q^3 / bcb_1 c_1 b_2 c_2 \\ \sqrt{a}, -\sqrt{a}, aq/b, aq/c, aq/b_1, aq/c_1, aq/b_2, aq/c_2; q \end{matrix} \right] \\ &= \frac{[aq, aq/b_2 c_2; q]_\infty}{[aq/b_2, aq/c_2; q]_\infty} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{[b_2, c_2; q]_{m+n} [b_1, c_1, aq/bc; q]_n [aq/b_1 c_1; q]_m}{[q; q]_m [q, aq/b, aq/c; q]_n} \times \end{aligned}$$

$$\times \frac{(aq/b_2c_2)^m (a^2q^2/b_1c_1b_2c_2)^n}{[aq/b_1c_1; q]_{m+n}} \quad (2.2)$$

Taking $b, c, b_1, c_1, b_2, c_2 \rightarrow \infty$ in (2.2) and then letting $a \rightarrow 1$, we get

$$\sum_{m,n=0}^{\infty} \frac{q^{2n^2+2mn+m^2}}{[q; q]_m [q; q]_n} = \frac{1}{[q; q]_{\infty}} \sum_{n=-\infty}^{\infty} (-)^n q^{\frac{7n^2}{2} - \frac{n}{2}} = \frac{1}{[q, q^2, q^5, q^6; q^7]_{\infty}} \quad (2.3)$$

after some simplification.

This is a known result due to Andrews [1; (1.8), p. 4083].

Next, putting $c_2 = aq^{N+1}$ in (2.1), we get

$$\begin{aligned} & {}_8\Phi_7 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b, c, b_1, c_1, b_2; q; a^2q^2/bcb_1c_1b_2 \\ \sqrt{a}, -\sqrt{a}, aq/b, aq/c, aq/b_1, aq/c_1, aq/b_2 \end{matrix} \right]_N \\ &= \frac{[aq, b_2q; q]_N}{[q, aq/b_2; q]_N b_2^N} \sum_{m=0}^N \sum_{n=0}^m \frac{[b_2, aq^{N+1}, q^{-N}; q]_m [b_1, c_1, aq/bc, q^{-m}; q]_n q^{m+n}}{[q, b_2q; q]_m [q, aq/b, aq/c, b_1c_1q^{-m}/a; q]_n}. \end{aligned} \quad (2.4)$$

Now, setting $b = \sqrt{a}$ and $c = -\sqrt{a}$ in (2.4), we get

$$\begin{aligned} & {}_4\Phi_3 \left[\begin{matrix} a, b_1, c_1, b_2; q; -aq^2/b_1c_1b_2 \\ aq/b_1, aq/c_1, aq/b_2 \end{matrix} \right]_N \\ &= \frac{[aq, b_2q; q]_N}{[q, aq/b_2; q]_N b_2^N} \sum_{m=0}^N \sum_{n=0}^m \frac{[b_2, aq^{N+1}, q^{-N}; q]_m [b_1, c_1, -q, q^{-m}; q]_n q^{m+n}}{[q, b_2q; q]_m [q, b_1c_1q^{-m}/a; q]_n [aq^2; q^2]_n}. \end{aligned} \quad (2.5)$$

Again, putting $b_1 = q\sqrt{a}$, $c_1 = -q\sqrt{a}$ and $b_2 = b$ in (2.5), we get

$$\begin{aligned} & {}_4\Phi_3 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b; q; 1/b \\ \sqrt{a}, -\sqrt{a}, aq/b \end{matrix} \right]_N \\ &= \frac{[aq, bq; q]_N}{[q, aq/b; q]_N b^N} \sum_{m=0}^N \frac{[b, aq^{1+N}, q^{-N}; q]_m q^m}{[q, bq; q]_m} {}_2\Phi_1 \left[\begin{matrix} -q, q^{-m}; q; q \\ -q^{2-m} \end{matrix} \right] \end{aligned} \quad (2.6)$$

The inner ${}_2\Phi_1$ vanishes for all m except $m = 0$. Thus we have,

$${}_4\Phi_3 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b; q; 1/b \\ \sqrt{a}, -\sqrt{a}, aq/b \end{matrix} \right]_N = \frac{[aq, bq; q]_N}{[a, aq/b; q]_N b^N}. \quad (2.7)$$

This is yet another known result due to [3; (14), p. 99].

As $N \rightarrow \infty$ we get

$${}_4\Phi_3 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b; q; 1/b \\ \sqrt{a}, -\sqrt{a}, aq/b \end{matrix} \right] = 0, \quad (2.8)$$

because for convergence; $|b| > 1$.

Again, if we put $b = \sqrt{a}$ or $b = -\sqrt{a}$, respectively in (2.7), we get

$${}_2\Phi_1 \left[\begin{matrix} a, -q\sqrt{a}; q; 1/\sqrt{a} \\ -\sqrt{a} \end{matrix} \right]_N = \frac{[aq; q]_N}{[q; q]_N a^{N/2}}. \quad (2.9)$$

and

$${}_2\Phi_1 \left[\begin{matrix} a, q\sqrt{a}; q; -1/\sqrt{a} \\ \sqrt{a} \end{matrix} \right]_N = \frac{[aq; q]_N (-)^N}{[q; q]_N a^{N/2}}. \quad (2.10)$$

Now, if we set

$$\alpha_r = q^{r(r+1)/2} (-\sqrt{a}/b)^r \frac{[a, -q\sqrt{a}, b; q]_r}{[q, -\sqrt{a}, aq/b; q]_r}$$

in (1.5) and use (1.9), we get

$$\beta_n = \frac{[q\sqrt{a}/b; q]_n}{[q, q\sqrt{a}, aq/b; q]_n} \quad (2.11)$$

Substituting the above values of α_n and β_n in (1.7), we get

$$\begin{aligned} & \frac{1}{[aq; q]_\infty} \sum_{n=0}^{\infty} q^{n(5n+1)/2} a^{2n} (-\sqrt{a}/b)^n \frac{[a, -q\sqrt{a}, b; q]_n}{[q, -\sqrt{a}, aq/b; q]_n} \\ &= \sum_{m,n=0}^{\infty} \frac{q^{(m+n)^2+n^2} a^{m+2n} [q\sqrt{a}/b; q]_n}{[q; q]_m [q, q\sqrt{a}, aq/b; q]_n} \end{aligned} \quad (2.12)$$

As $b \rightarrow \infty$ in the above, we get

$$\begin{aligned} & \frac{1}{[aq; q]_\infty} \sum_{n=0}^{\infty} q^{3n^2} a^{5n/2} \frac{[a; q]_n (1 + q^n \sqrt{a})}{[q; q]_n (1 + \sqrt{a})} \\ &= \sum_{m,n=0}^{\infty} \frac{q^{(m+n)^2+n^2} a^{m+2n}}{[q; q]_m [q; q]_n [q\sqrt{a}; q]_n} \end{aligned} \quad (2.13)$$

If $a \rightarrow 1$ in (2.13), we get

$$\sum_{m,n=0}^{\infty} \frac{q^{2n^2+2mn+m^2}}{[q; q]_m [q; q]_n^2} = \frac{1}{[q; q]_\infty} \quad (2.14)$$

Now, taking $a = q^2$ in (2.13), we get

$$\frac{1}{[q; q]_\infty} \sum_{n=0}^{\infty} q^{3n^2+5n}(1 - q^{2n+2}) = \sum_{m,n=0}^{\infty} \frac{q^{(m+n)(m+n+2)+n(n+2)}}{[q; q]_m [q; q]_n [q; q]_{n+1}} \quad (2.15)$$

Again, taking $a = q$ in (2.13), we get

$$\frac{(1 - \sqrt{q})}{[q; q]_\infty} \sum_{n=0}^{\infty} q^{3n^2} q^{5n/2} (1 + q^{n+\frac{1}{2}}) = \sum_{m,n=0}^{\infty} \frac{q^{(m+n)(m+n+1)+n(n+1)}}{[q; q]_m [q; \sqrt{q}]_{2n}}$$

which leads to

$$\sum_{m,n=0}^{\infty} \frac{q^{(m+n)(m+n+1)+n(n+1)}}{[q; q]_m [q; \sqrt{q}]_{2n}} = \frac{(1 - \sqrt{q})}{[q; q]_\infty} [q^6; q^6]_\infty [-q^{11/2}, -q^{1/2}; q^6]_\infty. \quad (2.16)$$

Further, putting

$$\alpha_r = q^{r(r-1)/2} q^{r/2} \frac{[a; q]_r}{[q; q]_r}$$

in (1.5) and using (1.11), we get

$$\beta_n = \frac{1 + \sqrt{a}}{2} \frac{[-\sqrt{q}; q]_n}{[q, -\sqrt{aq}, q\sqrt{a}; q]_n} + \frac{1 - \sqrt{a}}{2} \frac{[-\sqrt{q}; q]_n}{[q, \sqrt{aq}, -q\sqrt{a}; q]_n}. \quad (2.17)$$

Substituting the above values of α_n and β_n in (1.7), we get

$$\begin{aligned} & \frac{1}{[aq; q]_\infty} \sum_{m,n=0}^{\infty} q^{5n^2/2} a^{2n} \frac{[a; q]_n}{[q; q]_n} \\ &= \frac{(1 + \sqrt{a})}{2} \sum_{m,n=0}^{\infty} \frac{q^{(m+n)^2+n^2} a^{m+2n} [-\sqrt{q}; q]_n}{[q; q]_m [q, -\sqrt{aq}, q\sqrt{a}; q]_n} \\ &+ \frac{(1 - \sqrt{a})}{2} \sum_{m,n=0}^{\infty} \frac{q^{(m+n)^2+n^2} a^{m+2n} [-\sqrt{q}; q]_n}{[q; q]_m [q, \sqrt{aq}, -q\sqrt{a}; q]_n} \end{aligned} \quad (2.18)$$

which, with $a \rightarrow 1$ leads to the identity (2.14).

Next, substituting the values of α_n and β_n given by (1.12) and using them in (1.7), we get

$$\frac{1}{[aq; q]_\infty} \left\{ 1 + \sum_{n=1}^{\infty} q^{n(7n-1)/2} a^{2n} (-)^n \frac{(1 - aq^{2n})[a; q]_n}{(1 - a)[q; q]_n} \right\}$$

$$= \sum_{m,n=0}^{\infty} \frac{q^{(m+n)^2+n^2} a^{m+2n}}{[q; q]_m [q; q]_n} \quad (2.19)$$

As $a \rightarrow 1$ in the above, we get

$$\sum_{m,n=0}^{\infty} \frac{q^{(m+n)^2+n^2}}{[q; q]_m [q; q]_n} = \frac{1}{[q, q^2, q^5, q^6; q^7]_{\infty}} \quad (2.20)$$

which is again the identity (2.3).

Finally, using (1.13) and (1.7), we get

$$\begin{aligned} & \frac{1}{[aq; q]_{\infty}} \left\{ 1 + \sum_{n=1}^{\infty} q^{3n(15n-1)/2} a^{7n} (-)^n \frac{[a; q^3]_n (1 - aq^{6n})}{(1-a)[q^3; q^3]_n} \right\} \\ &= \sum_{m=0}^{\infty} \frac{a^m q^{m^2}}{[q; q]_m} + \sum_{m=0}^{\infty} \sum_{n=1}^{\infty} \frac{a^{m+2n} q^{(m+n)^2+n^2} [a; q^3]_n}{[q; q]_m [q; q]_n [a; q]_{2n}} \end{aligned}$$

As $a \rightarrow 1$ in the above we get the following interesting identity, after some simplification

$$= \sum_{m=0}^{\infty} \frac{q^{m^2}}{[q; q]_m} + \sum_{m=0}^{\infty} \sum_{n=1}^{\infty} \frac{q^{(m+n)^2+n^2} [q^3; q^3]_{n-1}}{[q; q]_m [q; q]_n [q; q]_{2n-1}} = \prod_{r=0, \pm 21 \pmod{45}} (1 - q^r)^{-1}.$$

Making use of several other results available in the literature, a number of interesting identities of the nature investigated here can easily be established.

References

- [1] Andrews, G. E., An analytic generalization of the Rogers-Ramanujan identities for odd moduli, Proc. National Academy of Sciences, USA, Vol. 71, 10 (1974), p. 4082-85.
- [2] Andrews, G. E., Multiple series of Rogers-Ramanujan type identities, Pacific J. Math., Vol. 114, 2 (1984), 267-283.
- [3] Denis, R. Y., Singh, S. N. and Singh, S. P., On certain transformations of poly-basic bilateral hypergeometric series, Jour. Computation and applied mathematics, 160 (2003), 95-101.
- [4] Gasper, G. and Rahman, M., Basic Hypergeometric Series, Cambridge University Press, Cambridge (1990).

- [5] Verma, A., On identities of Rogers-Ramanujan type, Indian J. of Pure and Appld. Math., 11(6), (1980), p. 770-790
- [6] Verma, A. and Jain, V. K., Certain summation formulae for q-series, Jour. Indian Math. Soc., Vol. 47 (1983), p. 71-85.

